B(&n)

B(&n)

CMs PbPb 0.607 nb™ (5.02 TeV) CMS PbPb 0.607 nb! (5.02 TeV)

03— 71— 0.
| 3.0< pT,asso <80< pT.lrig <15.0 Gev (a) ] I 3.0< p <80< p. < 15.0 GeV (b) 1
| T,asso T trig i
[ ni<24 ] 0.08- ]
0.2 -w2<np<m2 1 . I ® 0-10% ]
| 5 ® 0-10% < s 0.06- B 30-40% 1
L = 30-40% 1 g L ,E! X 70-80% 1
I ¥ 70-80% = I o i
- : S 0.04f @ N
E s | <24 i
0.1* 1 m I 4
| i - 0.3<|An|<1.0 g
[ ] E y
I - i
OFIIE'-""-I '""T"i“q
-4 -2 0 2 4
An Ag[rad]
. CMms pPb 186 nb™ (8.16 TeV) cMsS pPb 186 nb (8.16 TeV)
0T '(')A 0.05—————F——T 1]
C [ d) |
L 3.0< <8.0< <15.0 GeV <
| pT,asso pT,lrig i : 30< pT,asso< 8.0< pT,trig <150 GeV( ) :
0.08 <24 . 0.04F pi<24 B
H ® 270 <N < 300 | [ o 270 <N™ <300 |
-TU2 < Ap< 102 m 120 < N°™ < 150 1 — [ 03<|An|<1.0 ot 1
0.06]- trk ] " 0.03f m 120 <N, " <150 ]
: ¥ 0< N:)rf;hnE <40 : g : X 0< N::rf;hne <40 :
= [ ]
- - 9_ | A
0.04 = < 0.021 N
| 1 m | |
| g 3 ] 1
0.02- n 0.01- £ % b
I & s |
0 sssse | ®e 0 il I
-4 -2 0 2 4 -1 0 1 2 3 4

An Aglrad]



